® FD =45

O FD =14

@ /B=/D

® (A =/E

® /A =/D,FD =4



2. g 139 AABC ¢4 PQ // BC °]th.
AQ 9] Aol

® 3 @ 4 ® 5
@ 6 B 75




1 Al 24 ¢, m,n

U m ] n)

® 16




4. & 3914 AD //EF //BC Y o, x 9

@27

D 5 @ 5.5 ® 6
® 6.5 ® 7




thS P04 AABCaAA'B'C 4 o, AC ©f tj-&5t= Wt .7
o tf-g5t= 22 A= YdshH?

A
A
B C B’QC/
D AB, ¢A @ AC,/C ® A'B’,/B

@ A'B, /C ® A'C, /C



~
10°

ol
jant

R

1807

z
a

@ =



t}S 804 AABC o aADEF O]t} o], zx 9}y 9] 7t
H9

‘\

80° 3.?\

60°
B —C
T4 --

® zx=20° y=6

@ 1x=25°y="T

® x=30° y=6 @ /x=170°y=6

® /x=40° y=7




8. the o] £ she 47754 AB o Bgsts At AT
2, x ©] gL

D 7 ® 10 3 12 @ 16 B 24



o 204 A 1+ AABC 9] WAL off, BD 9] Zoj& 2

@D 3cm ® 4cm 3 6cm @® 9cm 3B 12cm



10. & TgloA AD & /A 9] o]5 B Aol AACD 9] Yol 30cm?
o|t}. AABC 9] Ho]:9

@ 18cm? @ 30cm? ® 38cm?

@ 45cm?2 5B 48cm?2



11. & 1894 AB, EH, DC7} BCo] Aw35t1 AB = 8cm , DC =
12em ¥ W], EH 2] do]=?

D
\
A \
\

I’ E 12cm
8cm /
v !
\ n /
B H C

@ 4.8cm @ 4.6cm ® 4.4cm

@ 4.2c¢m B 4cm



12. o 234 0ABCD 92 oA’B'C’'D’ ©]tk. oABCD ©] £#9] e
2 oA'B'CD 9] 289 ZolE HeE 27

D 14 ® 15 B 1.6 @ 3.5 B 4



13. o3 13[4 BC//DE & W, xy o] #t2?




14. A3

A = ABC = (BDC = W 2 W, o1& F 2717 ke siid
A E D
7
B . .
@ £ABD @ /EFD ® /DBC

@ (FGB ® /DCB



15. oABCD|A AD//BCo]1 2AE = BE, AD = 6cm , BC = 15cm
A o, MN o] Zo]=?

A 6cm

M N

“=-15cm--"

@D lem @ 2cm 3) 3cm @ 4cm 3 5cm



